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AOL
Taco

(9] )
Mg B Bx HIWF HAsg
- 117,910 | 152,015 | 138,065 129,580 | 90,650
2djf<g 112,330 = 69,950 - 99,980 | 72,696
51,225 | 49,933 | 50,333 51,655 | 52,295
7t 3,320 4,300 - 3,810 -
(=) 4,191 4,897 6,415 5,171 3,928
1kg 2,909 3,300 2,727 2,809 2,111
NS 1,722 1,667 - 1,728 1,552
(&) 1,907 2,442 2,073 2,147 1,630
100g 1,441 1,395 1,230 1,336 920
o) 4,810 4,543 4,083 4,673 3,605
105; 4,843 4,600 5,367 5,077 3,588
1,714 1,547 1,763 1,740 1,455
ok} 3,625 - - 3,625 2,375
kg 3,102 4,633 4,840 4,033 2,715
1,979 1,877 1,860 1,990 1,337
s 21,111 - 20,000 20,833 -
(7His) 19,875 | 31,067 | 24,317 23,843 -
1kg 7,999 6,930 6,967 7,314 8,081
7,457 7,950 10,000 7,652 -
Entg
ke 4,960 4,980 4,490 5,319 4,948
3,519 3,965 3,907 3,691 3,045
i} 8,640 | 13,667 | 14,000 10,837 -
(th=h 6,607 7,984 6,850 7,802 7,054
1kg 2,796 2,833 2,857 2,786 2,655
- 4,933 4,933 4,933 4,933 -
ke 4,125 4,500 3,533 4,463 2,876
3,175 3,778 3,733 3,422 3,216
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